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Intro
Tod ill n”val d fy

ngaeyovth\ic\/lto;icpsjweeavr:/lil]l 13621-1[‘1(1) a;(?u?iar?flude. n-]onm n bDJ
The question of ? 1 n D

I 770N 190

What is the Halachah for an ant that was NOT complete;
for example, it was missing a foot, in which it will still
continue to live on, is it K7W Y21 XpOP or NOT?

The question regarding

oMM AT
Does the Nazir become xiv only from the 777w AND the n 17\’)

nonon together, but NOT from each one separately. OR he
Nn2125

does become Xnv from each, the 777w OR the n5>uoi
alone.

The Braisa of

RPOD RI’PY 27V 0’727 VW

PINON DM

The six items for which X2°pY *27 rules that they are o
and the Nazir must be n5n, while the Chachamim rule . )e L) 779

they are 17, and the Nazir is NOT nan.
QY25 AYwY

The Machlokes *X»w and the 1327 regarding
7TV 1D DRYR
ORI IR

Whether one bone from the 797w or N5, is XV or n’?::rn N:’Pv ’:'\W
NOT?
PR NP

The Machlokes yt and the s re?ar/m?/
NITWN N DRYKR
n212920 10 R

)
Yecheskel .
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. Some of the terms and concepts we will learn about
include
PIV DRIV
A part of a 7w is Xnon only when it equals the 1w of
w7V, alentil. However, a whole yw is Rnon even 501
NIMW, a minute amount, because there is a »on nwrH 715N
that
RI777772
A complete creature is X Y32 RHOD

RIW NRMO

Part of Whole
a Y VW

X1\un X1Jun
the size of even

NWTYD NINW 902

(O >3¥"
. esk‘e‘l .
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So let's review ...

The Gemara in the previous Daf discussed a Braisa that
states

oNw NN

IO PR

A mnthatis NOT complete is NOT apa xnon.

70190 R

If he was transferred, the surrounding earth is NOT taken
along.

M2 NIDW RN

If he was buried with 2 other om», they are NOT
considered a nap Nnow

The Gemara now continues with a similar situation
regarding 1713, an ant, The Halachah regarding yyw nxmv
is as follows:

A part of a y7w is Rno» only when it is the size of nwTvd, a
lentil. However, a whole yw is ko even Xinw 503, a
minute amount, because there is a *yon nwnb 1357 that

R 72

A complete creature is Riw 531 RO,

R17 asks

inlehuiellobbial

What is the Halachah of an ant that was NOT complete;
for example, it was missing a foot, in which it will
continue to live on. As the w”"x1 explains, do we say

RITW Y32 RHOM PR

Because

2 PYLIRIMW

01 RM

The *»on nwnb 1257 states that a complete 772 is like a full
Mw; but a onw ORI is NOT a nw.

OR

RITW 521 RHOD

Because

1703

RN

The *»on nwnb 1257 states that a 772 does NOT require a
MW, and a vonw 103 is considered a 73 since it will
continue to live.

DafHachaim.org

A2

e ORI NN

N5 N
P3P AN

% 18
mowvn AP0

If buried with
2 other amn
they are
NOT considered
annag nv

If transferred, Not
surrounding earth ~ X1\UN
isnottakenalong 7132

Ant-11911

Part of Whole
a v ald)

X1 Xnun
the size of even

NWTYD RINW H2

2 ashy
2100 NI0NW NHM)

For example, it was missing a foot,
in which it will continue to live on

RNLND
RINW 902

RNLN R
RINW 902

Because
a9y 133 XTIVY
9N Xil

Because
aAyrmaana
NNl
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The Gemara tries to resolve the question from a Braisa:
There are two contradicting Pesukim regarding y7w. One
Pasuk states

190 SR 07D 197 TOR

The word o implies even part of a yw.

And the other Pasuk states

29V7 TY RV DN D2 Y2 5D

The word o2 implies only a complete Y.

The Braisa reconciles and explains the two Pesukim:

19129 RITW ISP VIV TY TR R

WTYIL DHIN W)

TWTYIL I NONN VN PW

A part of a paw is Rnv» when it has the 1w of a complete
y7w, which the Chachamim measured to be the size of a
lentil, because the vmin is the size of a lentil when it is
born.

The Gemara says

PP RIYW D'V

This is proof that a 72 is like a m»°w, because only a
complete vmn with its legs is the size of a lentil. However
if we were to say

mrRay~yrigh]

Then a part of a 7w would be X»on at even less than nwTy,
because an incomplete vmn without its legs is mno
WTYON, ant it's also RV because it is still a 77922

The Gemara explains that regarding a vi»n when it's born
RNW P12

RPOP RO TWTYI RN RIT2T

PWI N N99I KT

The v is XYY only when it equals the size of a lentil,
because it was never alive yet. Therefore itis NOT
considered a 72 However, regarding a

monw 1903, we could say

NI 772

PWI N3 N901T

It is X»LH even RINW Y3, because it was already alive
before it was Jonm. Therefore it IS considered a i772.

DafHachaim.org

Arrr

o5 Diis 5o Lyge =ivn
mhnipa =) =aya)
==pE = Nty Yo BN

Impli Impli
MZ/ w mg//éé W

evew part oﬁé Mﬁ

77X N
19190 N JNEpIRD P Y
YIS DMASM PN
MYa2 2 nhAN B

X

Regarding a\anin
when it’s born
RIMOW 72
NWTYI XN RYTAT
RPLVHD XY
NWI N2 NYDI RHT

1unv aym;,
we could say

NI N2
N2 NYDAT
NHWI

ﬂberef(/r& it i NOT %r& it 7S
considered w »5 considered w 5

However, regarding
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The Gemara continues to explain the previous Mishnah
which mentioned several items which if a Nazir becomes
R»v from any one of them he must be n%; he must shave
and bring nNm»1© MI2P:

mTon 5

oA 5

If he becomes xnv from the spine or from the skull of a
nn», as Tosfos explains;

WA DTHY PRY 9PN

Even when there was no flesh on the n5u5m m7w;

R IR S,

MR 0 9AR S

NRII TVIVIY VW

And if he becomes xnv from the limb of a > or from the
limb of a living person, only when there IS a sufficient
flesh on each 72X to regenerate.

MPZY P31 5M

And from a halfap of bones;
D7 %30 5M

Or from a half 3% of blood;

1R 501 IRW 1 100 S

All these items are X»vp either by contact, or if he carried
them or was situated under one roof.

However

7NYWI DXY S

IRWD 5PN HY

A bone the size of a barley grain is X»v» only through van
or Rw», but NOT through 5nx.

The Gemara now seeks to clarify;

130 05NN T7TY

Does the Nazir become xnv only from the 777w AND the
b together, but NOT from each one separately? OR
TV IR

OVOIIR

He does become xi»v from each; either the 777w OR the
nouon alone.

He does become X1V from

DafHachaim.org

The Gemara continues to explain
the previous Mishnah...

M oY
N915%3 5

Spine or skull of aTim3
SE3 OODY PHE D7VH

T 11 2N Oy
I 11 AN O
"N s 1oy e

noxmbyy PO
al DAY

However

AP oxY O

All these items
are X\Y3un

1 O
N o
N o

W by
Wen S

The Gemara seeks to clarify

NITY N nITY
120 N5

But NOT from
each one separately

N9 IR

each one separately
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The Gemara tries to resolve the question from several
Breisos, one of which states

RPOD RPY 230 OI92T7 AW 7 7

70N DHOM

There are six items for which X2°py *37 rules they are
xpon and the Nazir must be noas, while the Chachamim
rule they are 111V, and the Nazir is NOT rban.

1.

DN 210N RV DNA 0 IIR '7])

If the limb was combined from two o'n;

..)L/_/)I”)D
Y27 AW 17 AR

QYoM
AaTpias

NPY '3
\Ja)iata)

2.
DR 32°30N RIW 17 12 IR SV

If the limb was combined from two live people; SREal Ay ‘7111 fatalaialaih] 51]
3. QW K2 D' N NOY
DTN 23w RIW NIOXY 2P 31 5M =S oxY b
Ifthe % 17 of bones was combined from two o'nn ' v, 5 g d NI 3K K
a. 2w poniw DN 32 2w N
D3OI RIA DT TP 5 NI e RSy 35 %A O
Ifa my>27 of blood was combined from two o'nmn. AV I MY
5,
owh PHmIw AMYwd DxY S - .
If a bone the size of a kernel of barley was split into two; This wpr Mﬁé that he WW/@’* M 2
6. f/brou?/u both
HORORM 7ITYOM ﬁ&& W 2970 1 370 £/
The spine and the skull; Y
The Gemara now says that this is proof that he is only xnv /7 RV

. through both, the n"5w>m 177w together, because

MOMOIR ATV IR 70 N

PN NYaw I

If he becomes xnv through either one, there are actually
seven items? x
The Gemara answers that even if we assume that

RO IR TITY IR Even if we assume N7IAY1A IX 11TV IX
The Braisa states 0117 MW, six items, because some of the Braisa states a¥137T WY

the items listed are possibly not counted in the 6 items: . .

1. because some of the items listed
Either nmywo oY is excluded, because are possibly not counted

D27 75Y 9T R DI

75 1597 RIT T IR

The Braisa only includes items in which X2py 127 is

opposed by a majority. However, regarding nmyw> oxy, o7 Yy MNP 2R N7V DXRY
Rebbe Akiva is opposed only by *w1 12 jpm »27. is excluded is excluded is excluded
Or, because

1978 SV MOM 1T RN 5 INp

R5T AW DRV "PIORY Because Because Because

The Braisa only includes items for which the Nazir NP D NP D NN 9
becomes xnv even through 5x; and myws o3y is NOT MITTRIND)  NNNPTAR - D HY DT
Z”Nl RPOB IDRY MN N 2R TTPTDRY

07 Y27 Y PHOTRIN

N2 TN ROT

’
OrnijnIaris excluded, because np N9

NP P IR NP D
INR RY M 0 2R
The Braisa only includes items that come from a nn.
3,
‘ 07 Y17 is excluded, because
39777 RPN DI NP D 17NR Y
72977 X5 0T Y17 IORD nMYWI XY 7|71ng
The Braisa only includes items to which X2°py *27 N9T
eventually yielded to the Chachamim; but for o7 n°y19,
the Machlokes still stands.

Dedicated By:

Or, because

NP
NN PTITRIND
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. The Gemara then cites another Braisa to resolve the
question:
DR RDY 772 . 7”9
DOV I MP3Y VI ,6/)
USWN IR DIVN N Vs 0
The 'Rpw 2 say the 1w of mnY Y that is RO, is PO 1D 2/ P M

even a combination of only two or three bones, as long as vzjj n‘mxp v:qw

it’s more than one.

DR Do 1 ik e In D’?DR;J.‘I in

M0 YInNM

The 551 12 say that the sy yar3 are only xpL from the r::n mhin}e) QYN IN
et 1T 210 N MW N

The major part of supportive bones; OR
PIdN MW
From the majority of the total number of bones;

V9>’ > says

YW 27 says N ,
TARD 117279271 WA 72T MY 1Y " njwvs J"s’?
I could explain the "x>w 2 and 557 2 in a way, where "2 MM 229

there is NO Machlokes: “MND
The w”a that say

YN IR oW hl'7all ‘7"&1” QYR
Refer to eith l
efer to either
TAR WY 077 IUN IR L) =y 9 AR
. Two shinbones and one thigh, or vice versa; and they are s ‘7J11 2" QM7 MW N
RPLY, because they are 111 219 even though they are NOT N Pﬁw‘
P
Because fée?/ are ps o
And the 551 2 add evew ?%ou?/u
PIDMIN No7T
The majority of mnxy are also Xnov» M”& o

DI DT PIONI WM DRIN
The bones of the hands and feet; because they are y1» 219
even though they are NOT p1a121;

The Braisa continues

TR RDY

TITON P DXV 1R

VORI IR

Rpw says even ONE bone from the 737w or nHnH, is
Rnon, Apparently *Xnw holds nHRHM IR 777w IN? X 74

However, the question still stands according to the j3117 n 1 ﬂ w n i D nxv “7’ 9 x
ho di ith Rpw. D that they di
Z:lt;)rell;?gree with 'xnw. Do we say that they disagree nsu‘”lﬂ In 1&

130 IOV 777w
Only both together are Xi>ow;

OR they only disagree
ATV P NRT TR DRV However,
onoIn . .
That ONE bone of the 777w or o5 is NOT rivon. the ques?lon still stands
However, they do agree that DTW IR according to the 121
AP RIMIDOR PPV PIPRT RO : U

‘ A complete 777w or N9 alone IS RpVH? nID]Jb]J IR who dlsagree with XY
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